Homework Answers for Week 10
Grammar: 
[image: A picture containing text, newspaper

Description automatically generated]
Spelling: 
[image: Text

Description automatically generated]


Punctuation: 
[image: A picture containing text, newspaper, document

Description automatically generated]

[image: Text, letter

Description automatically generated]



Arithmetic: 
[image: A picture containing text, receipt

Description automatically generated]
Geometry 

[image: A picture containing letter

Description automatically generated]

Number: 
[image: A close-up of a piece of paper

Description automatically generated with medium confidence]
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marks for all corret

¥iwin e, can havea gy
e prohade
When' 501010 beach ety

1 mark or 3 comect, 2 marks for ll correc
ause | waried t play foatall.
fhe IV senes o,
g o the i this

he msic ey were dancing
Ny cormpte has broken cen though fsbrand
dorc wel i e parens are o

1 mark for 3 correct, 2 marksforal orrect)

9 A dinate clause s added and a

vana (f necessary) s used comeclly
g They swam in thesea atr they had buil sandcastles
1 mark
Any sentence where 3 main lause is added and a comma,
i necessary)is used correcly
Eg When he got home, he ate his dinner
We went for 3 walk even though it was cold
fore we could say anything, the ar drove away
James was upset because hedlost his cost
| made dinner whie she had a shower
e SRR e Ay
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3) uncomfory s
fortible (uncomf
ncomfortable), possabje
e €), possable (possible),

. unacceptible (unacceptat
i : acceptable)
mark for 2 correct, 2 marks foy g correct)

Page23 ending in ‘abl

1) impossably (impossibly), s ( s y
(responsibly), inlucdab'l{r y?‘ml‘luiil"‘h”" PRIl
(1 mark for 2 correct, 2 marks for all correct)

2) understandably, horri
unbelievably,
(1 mark for 2 correct, 2 marks for all correct)

3) arguibly (arguably), noticeibly (noticeably)
(1 mark)
Any paragraph where the words are used correctly.
E.g. It was arguably the best match they'd ever seen.
The team had noticeably improved their tactics.

(1 mark)

Page 24 — Words ending in ‘al’, ‘el and ‘le’

llel, gradual, legal, approval, aisle
Y fia::a:k fir 2 correct, 2 marks for all correct)

2) magicel (magical), parcle (parcel), channal (channel),

ical
;;1 e::;l: i((’)nfe;ICC:rzect, 2 marks for all correct)

. - cle, tunnel
3) bicycle, capital, kenle:,zu:‘arks o llcorest)

(1 mark for 2 co
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5) After we leit you, the journey

==xllon 4 — g,
5 9Nn4 - Bracj
and H hEn;ac'Le's Dashes

Pages 28 ang

2 and 29 e

o 929 — Brackets for extra information
ozart (1756-1791) is my favourite composer
;\1/1’);‘!,3(1 S car (a Morris Minor) is very m)’w;“ ;

e’s more information ab Vi e: er

(m i about vampires later in the book
We cycled through three counti
i counties (Kent, Surrey and Essex)
(1 mark for 2 correct, 2 marks for all correct)

2) You should have circled:

Brackets always come in pairs.
1f you take all of the words in the brackets away, it should
still leave a proper sentence.

(1 mark for 1 correct, 2 marks for both correct)

3) “There’s a book on climbing (I think it's by Erica Smyth) by

the door.”
There are thirteen routes (three of them difficult) through

the woods.
The dog (a spaniel) had memorised his speech about

biscuits.
1 always buy a newspaper (The Gazette) and a book of

stamps.
(1 mark for 2 correct, 2 marks for all correct)

4) Fleur tells lots of stories (some of them are truel).

My birthday (the Tt June) is always sunny. :
The winning ticket (number 452) belonged to an alien.

(1 mark for 1 sentence correct, 2 marks for all correct)
took ages (over six hours).
1 (cold meat and rolls), we headed

jing sunbathing (it was thirty-
e d had some

Straight after breakfast
down to the beach. After
o degreesl), we found a little coffee shop an
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6) Any sentences that are grammatically correct, and fit with
the words and the punctuation given:
It was in the summer of 1846 (a wonderful year!) that | first
learnt to talk to the animals.
The last day of term (21st July) can’t come too soon.
Mrs Mox (my best friend’s mother) is sleeping in the corner.
(1 mark for 1 correct, 2 marks for all correct)

age 30 — Dashes for extra information
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s correctly labelled — not including the ‘Apple’ sector.)

Pages 41 to 43 — Analysing Data

2)  Group A: 3 (30 + 10) (1 mark)
Group B: 2 (20 + 10) (1 mark)

Group A (1 mark)

3) 3hours(4+2+1+5=12

Total must be 15, because 15 + 5 = 3. So, 15-12 = 3)
(2 marks for the correct answer. 1 mark if the answer is

wrong but they've used a sensible method.)
4) 50 ice creams

(70 + 55 + 65 + 10 = 200, 200 + 4)
2 marks for the correct answer. 1 mark if the answer is
wrong but they've attempted to add up the four numbers

and divide by 4.)
5) 4,2,2,5,2 (1 mark

6) 8 students (1 mark)

32 students (1 mark)
E.g. the most common way to travel is to cycle

OR cycling was twice as common as walking (1 mark)





